Warm Up 3/26

Any questions about the work you've done
that the answer keys did not answer for you?
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We are going to begin talking about

Inequalities



Symbol Review:
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What are some values of x that would satisfy
(make it true) the following inequality?

3x+4<13

Find at least 5.

(Remember not all solutions need to be whole numbers or positive!)



Let's put all our solutions on a number line!

3x+4<13
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What if our inequality changed to:
N
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3x +4 <13 g A
What is the difference?
3 cannel be
/ o 50lwh o
= O
A | | | | | | | | | | AN
S I I | I I l 1 | | —



Open Circle vs. Closed Circle
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Some practice:

Graph all possible values of x on a number line.
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Format for solving, graphing, and checking:
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Where Do Airline Pilots Keep Thelr Uniforms?

For each exercise, write the letter of the answer in the box containing the exercise number.

In Exercises 1-6, match the inequality with its graph.
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In Exercises 7-18, solve the inequality. Then graph the solution.
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Inequalities:
Graphing the Solution Set of an Inequality
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Homework

Finish classwork



